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Section 1 - Theory

Suggested answer Mark(s
)
Give the correct definitions for licensing and franchising. Point out the 05
differences between licensing and franchising in three aspects (a table) '
- The first aspect 0.5
- The second aspect 0.5
- The third aspect 0.5
Total 2.0
Section 2 - Exercise
Q. Suggested answer Mark(s
1 )
Effective
Interest Possible | Financing B
Currency Rate % Rate Based | Probability
Change on That
Change
Par | ™ Real Brazil 6.25% | 3.70% | 10.18% 22.50% 1.0
ta Real Brazil 6.25% 2.80% 9.22% 34.20%
Real Brazil 6.25% 3.50% 9.97% 43.30%
Japanese Yen 5.75% 3.70% 9.66% 29.20%
Japanese Yen 5.75% 2.90% 8.82% 40.70%
Japanese Yen 5.75% 3.50% 9.45% 30.10%
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Possible Joint
Effectlvlgalilenancmg Joint Probability Effective PF(;??fr:)(I:;Qg Rate of
BRL JPY
10.18% 9.66% 6.57% 9.90%
10.18% 8.82% 9.16% 9.43%
Par | ™10.18% | 9.45% 6.77% 9.78% 0.5
th 9.22% 9.66% 9.99% 9.47%
9.22% 8.82% 13.92% 9.00%
9.22% 9.45% 10.29% 9.35%
9.97% 9.66% 12.64% 9.80%
9.97% 8.82% 17.62% 9.34%
9.97% 9.45% 13.03% 9.68%
There is a 39.02 percent chance that VitaPedic will incur a higher effective 05
financing rate from borrowing the portfolio. '
Total 2.0
Q.
2
far M =W, +Wsly =4.97% 05
a
Par | VAR(r,) = Wios + Wi05 +2W,W;0,0,CORR 05
th =0.017875296 '
Total 1.0
Q.
3
Forward hedge
Purchase 12,843,000 6-month forward: £2,843,000 x N$0.92= N$2,615,560 0.25
Money market hedge
1.Need to invest £2,796,164.249 (12,843,000/1.01675 = £2,796,164.249)
2.Need to borrow N$2,516,547.82(12,796,164.249 x N$0.90 = N$2,516,547.82) 0.5
3.Will need N$2,607,772.683 to repay the loan in one year N$2,516,547.82 x
1.04 = N$2,607,772.683)
Call option hedge (Exercise price = N$0.91; Premium = N$0.029)
Amount
Par || possiple | OPtioN : Received per A-Ir_r?c:ﬁlnt .
ta || spot Rate Premlum Exercise Unit (al§o Received for Probability
po
per Unit Accoun'_ung ¥2.843.000
for premium) T 0.5
N$0.88 | N$0.029 No 0.909 2,584,287 7%
N$0.90 | N$0.029 No 0.929 2,641,147 12.5%
N$0.93 | N$0.029 Yes 0.939 2,669,577 38.5%
N$0.95 | N$0.029 Yes 0.939 2,669,577 32%
N$0.97 | N$0.029 Yes 0.939 2,669,577 10%
The money market hedge is superior to the forward hedge and has a 93% chance
of outperforming the call option hedge. Therefore, the money market hedge isthe |  0.25

optimal hedge.
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Unhedged Strategy
. Total Amount Received .
Possible Spot Rate for 2,843,000 Probability
Par N$0.88 2,501,840 7% 0.25
th N$0.90 2,558,700 12.5%
N$0.93 2,643,990 38.5%
N$0.95 2,700,850 32%
N$0.97 2,757,710 10%
The money market hedge is preferable to the unhedged strategy because it has
80.5% chance of outperforming the unhedged strategy. 0.25
Total 2.0
Q.
4
Cost of equity (CAPM)
K, =R, + B(R, —R,)=7.15%+1.3x (15.4%— 7.15%) = 17.88% 05
Cost of capital
D E
Ke=pgr g K-+ 5K 0.5
=0.542x8.72% % (1— 23%) + 0.458 x17.88% =11.83%
Total 1.0
Q.
5
Forward hedge 0.25
Sell ¥299,000 x MOP$1.27 = MOP$379,730 '
Money market hedge
1.Borrow ¥294,908.149 (¥299,000/1.06 = ¥294,908.149) 0.50
2.Convert ¥294,908.149 to MOP$368,635.187 (at MOP$1.25 per ¥) '
3.Invest the MOP$368,635.187 at 7.89% to earn MOP$375,906.516 after a year
Put option hedge (Exercise price = MOP$1.28; Premium = MOP$0.032)
Amount Total
Par Possible Opti_on _ Rece_ived per Amo_unt N
Premium Exercise Unit (also Received | Probability
ta Spot Rate per Unit Accounting for
for premium) | ¥299,000 0.50
MOP$1.23 | MOP$0.032 Yes 1.248 373,152 5.5%
MOP$1.26 | MOP$0.032 Yes 1.248 373,152 35.7%
MOP$1.28 | MOP$0.032 | Yes or No 1.248 373,152 29.3%
MOP$1.31 | MOP$0.032 No 1.278 382,122 16.5%
MOP$1.32 | MOP$0.032 No 1.288 385,112 13%
The forward hedge is superior to the money market hedge and has a 70.5% chance
of outperforming the put option hedge. Therefore, the forward hedge is the | 0.25

optimal hedge.
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Unhedged Strategy
Possible Spot Rate Total é‘ ngugnS;[’ORggelved Probability
MOP$1.23 367,770 5.5% 0.25
Par MOP$1.26 376,740 35.7%
th MOP$1.28 382,720 29.3%
MOP$1.31 391,690 16.5%
MOP$1.32 394,680 13%
When comparing the optimal hedge (the forward hedge) to no hedge, the
unhedged strategy has an 58.8% chance of outperforming the forward hedge. | 0.25
Therefore, the firm may desire to remain unhedged.
Total 2.0
TOTAL: 10.0
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